Lattice Multiplication (A)

Use lattice multiplication to find each product.

38 9 3 6 6 3 8
2 2
1 3
3893 x 21 = 6638 x 23 =
6 6 71 6 11 1 4
9 3
3 5
6676 X 93 = 1114 x 35 =
31 8 1 2 6 7 1
8 3
7 1
3181 x 87 = 2671 x 31 =
33 1 9 9 9 4 4
8 3
9 0
3319 x 89 = 9944 x 30 =
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Lattice Multiplication (A) Answers

Use lattice multiplication to find each product.

3 8 9 3 6 6 3 8
0 ] ] 0 2 1 1 0 ] )
0 6 6 8 6 1 2 2 6 6
0 0 0 0 1 1 1 0 2 3
8 3 8 9 3 5 8 8 9 4
1 7 5 3 2 6 7 4
3893 x 21 = 81,753 6638 x 23 = 152,674
6 6 7 6 1 1 1 4
5 5 6 5 9 0 0 0 1 3
6 4 4 3 4 0 3 3 3 2
1 1 2 ] 3 0 0 0 2 5
2 8 8 1 8 3 5 5 5 0
0 8 6 8 8 9 9 0
6676 x 93 = 620,868 1114 x 35 = 38,990
3 1 8 1 2 6 7 1
2 0 6 0 8 0 1 2 0 3
2 4 8 4 8 0 6 8 1 3
2 0 5 0 7 0 0 0 0 1
7 1 7 6 7 8 2 6 7 1
6 7 4 7 2 8 0 1
3181 x 87 = 276,747 2671 x 31 = 82,801
3 3 1 9 9 9 4 4
2 2 0 7 8 2 2 1 1 3
2 4 4 8 2 2 7 7 2 2
2 2 0 8 9 0 0 0 0 0
9 7 7 9 1 9 0 0 0 0
5 3 9 1 8 3 2 0
3319 x 89 = 295,391 9944 x 30 = 298,320
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